Quiz
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ID#:

Consider a BCD-to-seven-segment decoder. The seven-segment display is shown:
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Note: the segment is going to be ONE if the output is 1 and OFF if the output is 0.
Write down the truth table for 4-inputs and 3 (a,b,c) outputs for digits from 0 to 3. Complete the table for the output “a”

For only the output “a” obtain a minimum logic function.

	
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	
	

	 
	 
	 
	 
	 
	
	

	 
	 
	 
	 
	 
	
	

	 
	 
	 
	 
	 
	
	

	 
	 
	 
	 
	 
	
	

	 
	 
	 
	 
	 
	
	

	 
	 
	 
	 
	 
	
	

	 
	 
	 
	 
	 
	
	











